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1. fa=g (15, 8) & 7T fawg & gl Far gfr 2

(A) 15
(B) 16
(C) 17
(D) 18

What is the distance of point (15, 8) from the origin?
(A) 15

(B) 16

(C) 1

(D) 18

2. WA [Ty = 2x - 3 &1 3T foieet # @ 57 foog & gt el 2
(A) (2, 2)

C) G, 4)

(B) (4, 1)

(D) (5, 7)

The graph of the straight line y = 2x - 3 passes through which of the
following points?

(A) (2, 2)
(C) 3, 4)
(B) (4, 1)
(D) (5. 7)

3. x-3718T W Jg foeg S fegy (-2, 0) wd (6, 0) & TWAIEY &, @
(A) (0, 2)

(B) (2, 0)



(€ @B, 0)
(D) (0, 3)

The point on x-axis which is equidistant from the points (-2, 0) and (6,
0) is

4. y-318T & Rwg (13, 15) Fr gl &
(A) 13
(B) 15
(C) 2
(D) 28

The distance of the point (13, 15) from y-axis is
(A) 13

(B) 15

(C) 2

(D) 28

5. frdll g7 & carw & R & fAdens (-10, 6) T (6, -10) § @ 9 & Foi
& e gy

(A) (-8, -8)

(B) (-8, 4)

(©) (-2, -2)

(D) (2, 4)



The coordinates of the ends of a diameter of a circle are (-10, 6) and
(6, -10). Then the coordinates of its centre are.

(A) (-8, -8)
(B) (-8, 4)
(©) (-2, -2)
(D) (2, 4)

6. gt T Fgger & ol & @i (2 4), (0, 6) duT (4, -1) &, ar
et & Feadh & AT gl

(A) (2, 3)

(B) (3, 2)

(C) 3, 3)

(D) (2, 2)

The coordinates of the vertices of a triangle are (2, 4), (0, 6) and (4, 1).
Then the coordinates of centroid of the triangle are

(A) (2, 3)
(B) 3, 2)
(€) @, 3
(D) (2, 2)

7. [9=q (13, 19) ¥ x-378T 9T STel 91T & FT «aTS &
(A) 13
(B) 19
(C) 32
(D) 6



The length of perpendicular from point (13, 19) to x-axis is
(A) 13
(B) 19
(C) 32
(D) 6

8. Teg3it (-2, 8) Td (-6, -4) HI AT IWrE@s & AL fooq fohey TqTer
HRYaT g ?

The mid-point of the line segment joining the points (-2, 8) and (-6,-4)
lies in which quadrant?

(A) First
(B) Second
(C) Third
(D) Fourth

9. afg P(0, 0), Q(8,0) Td R(0, 12) fFdr APQR & ¥ & ar APQR T
aAhel BT

(A) 40
(B) 48
(C) 20
(D) 4



If P (0, 0), Q(8, 0) and R(0, 12) are vertices of any APQR, then the
area of APQR is

(A) 40
(B) 48
(C) 20
(D) 4

10. forelt st & <MY foegail & facernss (0, 6), (0, 0) Ta (8, 0) &, ar
froger 1 oRTATY gl

(A) 14

(B) 24

(C) 42

(D) 313 & FI5 gl

The coordinates of the vertices of a triangle are (0, 6), (0, 0) and (8,0).
Then the perimeter of the triangle is

(A) 14
(B) 24
(C) 42

(D) none of these

11. a1 Q@ el & orafaa afg durd @i § ar 3% fhdel go gher
(A) T &
(B) ®Ig gl el
(C) 3=AfaAT gl
(D) 35 ¥ FIg el



If the graph of two linear equations is coincident lines then how many
solutions do they have ?

(A) One solution

(B) No solution

(C) Infinitely many solutions
(D) None of these

12. GHEROT 2x -y -3 =0 TG 12x + 7y - 5 = 0 & 3o FH bR &r
I 3@IU giefr ?

(A) FuTdr e Y@

(B) HHIGR T (@Y

(C) wfaeadr e Y@t

(D) 3 & HI5 el

The graphs of equations 2x -y - 3 = 0 and 12x + 7y - 5 = 0 are which
type of straight lines?

(A) Coincident straight lines
(B) Parallel straight lines
(C) Intersecting straight lines

(D) None of these

13. X -y = 0 & @ HE I I@r giefr ?
(A) x-318T & AR
(B) y-3&T & HHIK

C) 7 foeg & el g%
D) g% & F5 et



Which type of straight line will be the graph of x -y = 0 ?
(A) Parallel to x-axis

(B) Parallel to y-axis

(C) Passing through origin

(D) None of these

14. Arafaf@a & F Sl gfaara aAreor g ?
(A) (x +2) (x -2) = x* - 4x°

(B) (x + 2)* = 3(x + 4)

(C) @232+ 3) = (5 + x) (2x- 3)

1 _ 4,2
(D) 2x + - = 4x

Which of the following is a quadratic equation?
A) (x + 2) (x - 2) = x* - 4%°

(B) (x + 2)* = 3(x + 4)

(C) (2% + 3) = (5 + x) (2x*- 3)

(

L
D) 2x +— = 4x

15. AT FHEIOT 2x* + px - 3 = 0 & UH HA -3 &, @ p H AT g
(A) 3
(B) 5
(C) 4
(D) 6



If one root of the equation 2x*> + px - 3 = 0 is -3 then the value of p
will be

qrEdfae AR AT § ?

For what values of k the roots of the quadratic equation 9x* + 3kx + 4
= 0 are real and equal ?

(A) 4
(B) + 7
(C) + 9
(D) + 6

17. & x* + 3px + 2p° = 0 & HA o, B B YT o +B> = 5 @, df p &
AT &

(A) * 3
(B) * 2
(C) + 1
D) + 5

D)



If a, B are the roots of the equation x* +3px + 2p° = 0 and o + % =
then the value of p is

(A) + 3
(B) + 2
(C) * 1
(D) + 5

18. gfaara @Heor a° p® x* - q° = 0 & Ho gl

al p?
(A) =3

IUTARS T AT BT

(A) 3 : 10
(B) 3 : 25
(C) 3 : 50
(



The ratio of the sum of the roots and product of the roots of a quadratic
equation x* - 15x + 50 = 0 is

(A) 3 :
(B) 3 : 25
(C) 3 : 50
(D) 5

20. Ife gfdard EHERT & HoT -5 U9 -1 §, df gfaura d@Heor grem
(A) x> +6x +5=0
(B) x¥* - 6x + 5 =10
(C)x*-6x-5=0
(D) x* +6x-5=0

(D) If - 5 and -1 are the roots of a quadratic equation, then the equation

will be
(A) x> +6x +5=0
(B) x> -6x +5=0
(C)x*-6x-5=0
(D) x¥* + 6x-5=10

cos60°+1 _
" cos60°—1

(A) 2
(B) -2
(C) 3
(D) -3




22. gfe A/5 = 12°, a@r 3 cosec® A T HTT &I
(A) 243

(B) 3

(C) 4

(D) 443

If A/5 = 12°, then the value of 3 cosec® A will be
A) 243
B) 3

) 4

(
(
(C
(D) 43

23. sin 54° - cos 36° =

24. cos 1° cos 2° cos 3°... cos 90° =
(A) O

(B) 1

(C) - 1

(D) 2



cos 37° cot 34°

25. sin 53° p3 tan 56° T g %
(A) O
(B) 1
(C) 2

(D) - 1

cos 37° cot 34° .
sin 53° tan 56°

The value of



7 The value of cosec®®-7 cot’0 is
(A) 1

(B) 7

(C) 49

(D) 0

28. If¢ sin 48° = p, @l tan 48° & HAlA &

p
A 7

(B) *=1-

(C) ==

1+p?

1+p?
(D) =

If sin 48° = p, then the value of tan 48° is

(A) —=

1—p?

29. Ifg tan 27° tan 63° = sin A, A A &T AT &
(A) 27°
(B) 63°
(C) 90°
(D) 36°



If tan 27° tan 63° sin A, then the value of A is
(A) 27°
(B) 63°
(C) 90°
(D) 36°

3 sin2(90°—@)+sin 2 @ _
" cosec?(90°—6)—tan2 @

AR TR RT A AT AR A 2 mmR AT H gl &
(A) 10 #Hr
(B) 35 =
(C) 22 #r
(D) 40 =

If the radius of a wheel is i—i metre then the distance covered in 2
revolutions is

(A) 10 m
(B) 35 m
(C) 22 m
(D) 40 m



32. IfE eg O AR AT r arel g # £AOB = 6, @l T AB &I daTg
W &

nré
(A) 1808

(B) =

360

(C) =

180

(D) nr2e

360

If O is the centre and r is the radius of a circle and Z£AOB = 0, then
the length of arc AB is equal to

(A) nrée

180

(B) T

360
mrd
(C) 180

nre
(D) 360

33. T 8 cm [3AT & o et & 1 cm BT & fohdar o1 aftel ga1T ST
"hd & ?
(A) 256
(B) 512
(C) 1024
(D) 576

How many solid spheres of radius 1 cm can be made from a solid
sphere of radius 8 cm ?

(A) 256
(B) 512
(C) 1024
(D) 576



34. U o & HYUR &1 48 10 cm 3R &R FA15 12 cm 8, aF A% H
AT &

(A) 400 = cm®
(B) 300 = cm’
(C) 100z cm?
(D) 200 = cm®

The base diameter of a cone is 10 cm and its height is 12 cm. Then
the volume of cone is

(A) 400 = cm®
(B) 300 = cm®
(C) 100 = cm®
(D) 200 = cm?®

35. U YT & 939 &I a1 BFear 4 cm 3R aR® BFsar 3 cm g1 3fg
gHAT o=1g 10 cm BT, Tl T & 3MAT gram

(A) 120 cm®
(B) 220 cm’®
(C) 440 cm®
(D) 1540 cm?

The external radius of a metallic pipe is 4 cm and its internal radius is 3
cm. If its length is 10 cm, then the volume of metal is

A) 120 cm’
B) 220 cm®
C) 440 cm’

(
(
(
(D) 1540 cm®



36. T AH AR THh deold & ATURT & &%l FAA & AR o1 THYSS &
aher off wAT &1 A doT B Furg 2 A g, o o B o s &

(A) 2 #Hrex
(B) 3 #rex
(C) 4 HreX
(D) 5 HreX

The areas of bases of a cone and a cylinder are equal and their curved
surface areas are also equal. If the height of the cylinder is 2 metre
then the slant height of the cone is.

(A) 2 metre
(B) 3 metre
(C) 4 metre

(D) 5 metre

37. afg T 7 &1 3maasT 125 cm?® &, af 97 & fFaRT U9 g & faepor
T 3eTaT gl

(A)1:+3
(B) 5 : V3
(C) 25 : V3
(D) 15 : V3

If the volume of a cube is 125 cm® then the ratio of the side of cube
and diagonal of the cube is

(A) 1:+3
(B) 5: V3
(C) 25 : V3
(D) 15 : V3



38. Ife fohdll RNl & AYUT Y56 HT &TF%hel 462 cm” &, dl 38
gram

(A) 7 cm

(B) 14 cm
(C) 21 cm
(D) 22 cm

If the total surface area of a hemisphere is 462 cm? then its diameter is

39. & defell T FSAM3T HT 3T 2 1 3 § UG IeTehl FATSAT HT 34T 5
3 81 dl 3oTeh I T 3HeJaTd gram

(A) 27 : 20
(B) 20 : 27
(C)4:9
(D) 9 : 4

The radii of two cylinders are in the ratio 2 : 3 and their heights are in
the ratio 5: 3. Then the ratio of their volumes is

A) 27 : 20
B) 20 : 27
C)4:9

(
(
(
D) 9 : 4



40. Ife farelr amer T BT 3 I & ST & o FHPT AT g ST
(A) 3 T
(B) 6 7aT
(C) 9 7@
(D) 27 3T

If the radius of a sphere becomes 3 times then its volume will become
(A) 3 times

(B) 6 times

(C) 9 times

(D) 27 times

g &

(A) 9RAT eI
(B) 3Ry weE
(C) qotter T
(D) 31 ¥ FIg el

41, @

is

D K=5)
[y

A) a rational number
B) an irrational number

C) an integer

_— e e

D) none of these



42. 192 & AT UGS & 2 T T T § ?
(A) 2
(B) 3
(C) 6
(D) 5

What is the exponent of 2 in prime factorization of 192 ?

43. I AT TeaMR@H a=bg+r, Ha =72, q=8durr=0g, arb
FT AT FAT gl ?

(A) 9
(B) 8
(C) 7
(D) 4

If in division algorithm a = bg +r, a = 72, g = 8 and r = 0, then what
is the value of b?



44.ﬁmﬁﬁaﬁﬁmammmﬁ%?

Which of the following has terminating decimal expansion?
(A) =
(B) E
© &
(D)

45. U UeAlcH® qUleh ¢ ol e=Ifaf@d & @ &l UsiicAs faws quies w7g
g2

(A) 8q + 1
(B) 8q + 4
(C) 8q + 3
(D) 8q + 7

If g is a positive integer, which of the following is not an odd positive
integer ?

(A) 8q + 1
(B) 8q + 4
(C) 8q + 3
(D) 8q + 7



46. & SIMAR TH TEAT3HT FT Ho o g &

The HCF of two consecutive even numbers is
(A) O
(B) 1
(C) 2
(D) 4

47. Teh IRAT JEIT 3R U JA9RAT &IT HT IRT FHE &1 gl & ?

The sum of a rational and an irrational number is which type of number?
(A) An integer

(B) Irrational number

(C) Natural number

(D) None of these



48. €1 TEITIHT HT JUTAh 8670 & 3R 37t HCF 17 &, d 3=fht LCM T
gram ?

(A) 102

(B) 85
(C) 107
(D) 510

The product of two numbers is 8670 and their HCF is 17. What is their
LCM?

(A) 102
(B) 85
(C) 107
(D) 510

49. farafaf@a # & &la oA F&ar § 2
(A) V64 + 36
(B) V25 + 25
(C) V49 +49
(D) V36 + 36

Which of the following is a rational number?

(A) V64 + 36
(B) V25 + 25
(C) V49 +49
(D) V36 + 36



50. I 130 = 15 x 8 + 10 Td 15 = 5 x 3 + 0, & He Fe (130, 15) gHm
(A) 8

(B) 5

(C) 130

(D) 15

If 130 = 15 x 8 + 10 and 15 = 5 x 3 + 0, then HCF (130, 15) will be

51. (1 —sin*0)

(A) cos? 6 (1 + sin?9)
(B) cos?6 (1 —sin?6)
(C) cos?6 (1 — cos?6)

(D) sin? @ (1 + sin? 9)

52. AABC & X, Y s#T: aTC AB 3R AC WX a1 fawg & aur XY || BC |
g AX: XB = 2:3, d@ AY: YC &T HA glerm

A) 3:2
B) 2:3
C) 1:3

(
(
(
(D) 3



In AABC, X, Y are two points on sides AB and AC respectively and XY
|| BC. If AX: XB = 2:3, then the value of AY: YC is

(A) 3:2
(B) 2:3
(C) 1:3
(D) 3:1

53. a FHEY TS & &TBell T Heqard 121 : 64 § @ 3o Hard
AEIRIIHT T 3T &

(A) 11 : 8
(B) 8 : 11
(C) 121 : 64
(D) 12 : 91

The ratio of the areas of two similar triangles are 121 : 64. Then the
ratio of their corresponding medians is

(A) 11 : 8
(B) 8 : 11
(C) 121 : 64
(D) 12 : 91

54. a FHEY TS & GRATT A 30 cm iR 20 cm gl Il ggol e
I Teh ST T oa1s 18 cm g, dl qEll T38[eT 1 @ard §[aT I ofaTs gl
(A) 10 cm
(B) 8 cm
(C) 9 cm
(D) 12 cm



The perimeters of two similar triangles are 30 cm and 20 cm
respectively. If the length of one side of first triangle is 18 cm then the
length of corresponding side of second triangle is

(A) 10 cm
(B) 8 cm
(C) 9 cm
(D) 12 cm

55. Teh HHETE AT T &Aher 36V3 cm® &, A $HAT ST &

The area of an equilateral triangle is 36v3 cm?. Then its side is
(A) 6 cm

(B) 3v3 cm
(C) 12 cm
(D) V3 cm

56. @ Sferedl gat 1 Saraferss TORE A GEA Rl e € 2
(A) 4
(B) 2
(C) 1
(D) 3



The number of common tangents of two intersecting circles is
(A) 4
(B) 2
(C) 1
(D) 3

57. U gd TSt Bear 7 cm &, el a1e9 foeg P & et Y@r PT &
dES 24 cm g1 I IT T Feg &, d OP & d&rg Fr gl ?

(A) 30 cm
(B) 28 cm
(C) 25 cm
(D) 18 cm

A circle is of radius 7 cm. From an external point P length of tangent
PT is 24 cm. If O is the centre of the circle, then what is the length of

OP?
(A) 30 cm
(B) 28 cm
(C) 25 cm
(D) 18 cm

58. el sTeg fieg P & gd W Wil 915 Teh T 3@r &1 &5 17 cm &,
ar P & 38 g 9 Eier a5 g@Elr T 3@1 # odls §

A) 34 cm
B) 51 cm
) 17 cm

(
(
(C
(D) 17/2 cm



From an external point P, length of one tangent drawn on a circle is 17
com. Then the length of other tangent drawn from P to the same circle
is.

(A) 34 cm

(B) 51 cm

(C) 17 cm

(D) 17/2 cm

59. afe 7 @+ AT arel g9 & oY gAWs HT SAber 14 T JA g, ar Ay
ga@s & &Thel g

(A) 140 FoF Jair

(B) 150 @3t |+

(C) 125 Tat JY

(D) 200 TsT @Y

If the area of minor sector of a circle with radius 7 cm is 14 square cm,
then the area of major sector is

(A) 140 square cm
(B) 150 square cm
(C) 125 square cm
(D) 200 square cm

60. Teh g &1 & %ol 154 cm® §, ol SHH AH &
(A) 14 cm
(B) 28 cm
(C) 7 cm
(D) 21 cm



The area of a circle is 154 cm® Then its diameter is
(A) 14 cm
(B) 28 cm
(C) 7 cm
(D) 21 cm

61. gfaard FHaRoT x> + 4x + b = 0 T fadTs ¢

(A) 16 - 4b

(B) 4b - 16

(C) b® - 16

(D) 16 - b?

The discriminant of quadratic equation x* + 4x + b = 0 is
(A) 16 - 4b

(B) 4b - 16

(C) b* - 16

(D) 16 - b?

62. fAeafaf@a & ®ia waraw 4dr & &2
(A) 0.4, 0.44, 0.444, ...

B) 1, 11, 111, ...

(C) 2, 4, 8, 16, ...

(D) 0, -4, -8, -12, ...

Which of the following are in A.P.?
(A) 0.4, 0.44, 0.444, ...

(B) 1, 11, 111, ...



(C) 2, 4, 8, 16, ...
(D) O, 4, -8, -12, ...

63. FHGT Aer V18, V50, V98, V162, ... &T I 3K &

64. TATAR AGr 2, 5, 8, 11, ... &7 11 dT Ug AT R ?
(A) 24

(B) 30

(C) 32

(D) 14

What is the 11th term of an A.P. 2, 5, 8, 11, ... ?
(A) 24

(B) 30

(C) 32

(D) 14



65. Ife fRdT FHTAT AT &I n df U 8n-2 &1, al 3T AST &l FIddl Ue gl
(A) 54
(B) 50
(C) 30
(D) 40
If ith term of an A.P. is 8n-2, then 7th term of the A.P. is
(A) 54
(B) 50
(C) 30
(D) 40

66. Ife fordT TATAR AET 7 as - ax = 50 g, ar A F AT IR gom
(A) 4
(B) 15
(C) 5
(D) 10

If in an A.P. azy - ap = 50 then the common difference of the A.P. is



67. T (2x - 1), (3x + 2) TG (6x - 1) FH FAM A& & N FAWT Ug
& ar x & AT g

(A) 3
(B) 2
(C) 4
(D) 1

If (2x-1), (3x+2) and (6x-1) are three consecutive terms of an A.P., then
the value of x is https://www.bsebstudy.com

68. HTAT A< 2, 6, 10, 14, 82 & var Hr &I &
(A) 15

(B) 21

(C) 2

(D) 22

The number of terms in an A.P. 2, 6, 10, 14, ... 82 is
A) 15

B) 21

C) 20

(
(
(
(D) 22



69. WA A& 72, 63, 54, ... F PA-AT U YT & 2
(A) 8 af
(B) 9 af
(C) 10 af
(D) 11 af

Which term of the A.P. 72, 63, 54, ... is zero ?
(A) 8th

(B) 9th

(C) 10th

(D) 11th

70. T9=g3it (a cose, 0) T (0, a sind) & & & gl ¢
(A) a

(B) 2a

(C) 3a

(D)4a

Distance between the points (a cos6, 0) and (0, a sin®) is
(A) a

(B) 2a

(C) 3a

(D) 4a



71. 3% p(x) = 3x> + x* + 2x + 5, q(x) = x* + 2x +1 & 7 fear Svwe ar
HARTHS &I °Td gl

If p(x) = 3x*> + x* + 2x + 5, is divided by q(x) = x* + 2x +1, then the
degree of quotient will be

If polynomial g(x) = 3x* - 7x + 2, then the value of g(-1) is



73. g9 x* -16 & TP &
(A) +4, -4

(B) +4, +4

(C) -4, 4

(D) =13 & H1S el

The zeroes of the polynomial x*16 are
(A) +4, -4
(B) +4, +4
(C) -4, -4

(D) none of these

74.Hﬁ3§'qa'p(x)=x2-3x+5$ﬁﬁ$a3ﬂTB€T,Fﬂ4(u+B)ﬁm
&

(A) 12

(B) -12

(C) 20

(D) -20

If « and B are zeroes of the polynomial p(x) = x° - 3x + 5, then the
value of 4(a + B) is

A) 12
B) -12
C) 20

(
(
(
(D) -2



75. FfE 9gUE x* - Ox + 2a & YrIAH P IUABS 8 g, ol a H Al g

If the product of zeroes of a polynomial x* - 9x + 2a is 8, then the
value of a will be

76. A UG p(x) FT Th I - 1 &, A p(x) FT ThH IORIES g
(A) x—1
(B) x+1
©) =

(D)

1
x—1

If one zero of a polynomial p(x) is - 1, then a factor of p(x) will be
(A) x—1
(B) x + 1

1
C) X+
B

©)
( xll



77. AFafat@d 7 @ fH cfaurd SgUG & el F AF3 TG LR H
AUTTh 2 § ?

(A) x? +3x+2

(B) x2 +2x —3
(C) x? —3x -2
(D) x% —3x +2

Which of the following quadratic polynomials has sum of zeroes - 3 and
product of zeroes 27?

(A) x* +3x+2

(B) x> +2x—3
(C) x? —3x—2
(D) x*—3x+2

78.aﬁa,ﬁ,yﬁma§uaax3+ bx* + cx + d = 0 & I &, al afy
FT AT gram

(A) =

(B) —=

(C) =

(D) —

If a, B,y are zeroes of the cubic polynomial ax® + bx* + cx + d = 0 then
the value of afy is

(A) =
(B) —=<
(C) =

@

(D) <



The degree of the polynomial (y> 3y +1).(y° - 4y® + y* + 3y) is
(A) 6
(B) 7
(C) 3
(D) 4

80. I 3x - 2y = 12 UG 4x - 5y = 16 @, ar
A)x=4y=20
B)x=0,y=4
C)x=4y=2
D)yx=1,y=10

I

If 3x - 2y = 12 and 4x - 5y = 16, then
A)x=4y=0

B)yx=0,y=4
C)x=4y=2
D)x=1y=10



81. U U oS B 3 ¥, 3aH aRFRY g
(A) 3mr + 3r
(B) 3ar + 6r
(C) 3ar + Or
(D) 3ar

The perimeter of a semicircle whose radius is 3r is
(A) 3ar + 3r

(B) 3ar + 6r

(C) 3ar + Or

(D) 3ar

82. frafaf@a & ¥ ia-3 Tear R gear & widsdar A8 & ahdr § 2
(A) 0.7

(B) 2.5

(C) 75%

(D) 4/5

Which of the following numbers is not the probability of any event?
(A) 0.7
(B) 2.5
(C) 75%
(D) 4/5



83. IfE gealr E i & "ear E' ¢, Afaf@a & & Hla-ar @ ¢ ?
(A) P(E) = P(E)

(B) P(E) + P(E) = 0

(C) P(E) + P(E) = 1

(D) 31H & &I ALl

If E/ is the complementary event of an event E then which of the
following is true?

(A) P(E) = P(E)
(B) P(E) + P(E)) = 0
(C) P(E) + P(E)) = 1

(D) None of these

84. U Uy &I Ush e H 2 T e HT ridesar &ar g ?

In throwing a die one time what is the probability of not appearing 2 ?
(A) O

(B) 16

(C) 5/6

(D) 1/2



85. TSI g Whe T 52 arer HT U 1sar H F Ireadr Uah gar @rar |
SHP Pt T & SIG2AE Bl T UTiAshdr &7 g ?

(A) 5

(B) ;¢

©) 5

(D) 39H & FIg el

A card is drawn at random from a well-shuffled deck of 52 cards. What
is the probability of getting a black king?

1
(A) =
1
(B] =
2
©€) &
(D) None of these

86. Ife 24, 27, 28, 31, 34, x, 37, 40, 42, 45, 50 Hr AfCIHT 35 &, a x
FT AT g

(A) 35
(B) 36

(C) 34.5
(D) 35.5

If the median of 24, 27, 28, 31, 34, x, 37, 40, 42, 45, 50 is 35, then
the value of x is

(A) 35
(B) 36

(C) 34.5
(D) 35.5



87. g IRIRAT ARul et & & fhash fAuor & 39zl gar g 2
(A) AT
(B) ATETeT

(C) sge
(D) 37 & S 7@l

The cumulative frequency table is useful in the determination of the
following? https://www.bsebstudy.com

88. ALY, AITEHSH 3R geish H Hlad-A1 HY T ¢ ?
(A) ATET - Fgerh = 3 (AT - ATTCIH)

(B) HTEY - Sgeish = 3 (AT + HITCIHT)
(C)mﬁ-aﬁﬂ?=3(3§ﬂ$-m)

(D) 30H & HIg el

Which relationship is true for Mean, Median and Mode ?
(A) Mean - Mode = 3 (Mean - Median)
(B) Mean - Mode = 3 (Mean + Median)
(C) Mean - Mode = 3 (Mode - Median)
(

D) None of these



BQ.Wﬁ@HﬁWﬁagmmaﬁcﬂl%?

aa 0-10 10-20 20-30 30-40 40-50

JRERAT |15 20 45 15 25

(A) 10-20
(B) 20-30
(C) 40-50
(D) 38 & HI5 gl

In the following distribution what is the modal class?

Class 0-10 10-20 20-30 30-40 40-50
Frequency | 15 20 45 15 25
(A) 10-20

(B) 20-30

(C) 40-50

(

D) None of these

90. afe x + 2, 2x + 3, 4x + 5 AT 5x + 2 T ALY 18 §, ar x & HA

If the mean of x + 2, 2x + 3, 4x + 5 and 5x + 2 is 18 then the value

of x is



91. If¢ foeg R (a, b), fa=g3it P (0, 0) 3R Q(0, 2) &I TATAaT W@
W g, ar Feafaf@d & & &ia @gr g ?

(A) a=0
(B) a=2
(C) b=0
(D) 3137 & HIg eI

92. T @3 x = 2 TF y = -3 & fawda g &
(A) (2, -3)
(B) (-2, -3)
(C) (2, 3)
(D) G, -2)
The point of intersection of the straight lines x = 2 andy = -3 is
(A) (2, -3)
(B) (-2, -3)
(C) (2, 3)
(D) @, -2)



93. A tano =2, A sin 0 T AT gram
(A) 8/17

(B) 8/15

(C) 15/17
(D) 17/8

If tan@ = E, then the value of sin 0 will be
(A) 8/17

(B) 8/15

(C) 15/17

(D) 17/8

94. I (tan 6 + cot ) = 6 & tan® O+ cot2 § T AT &
(A) 25

(B) 27

(C) 24

(D) 34

If (tan 6 + cot 8) = 6, then the value of tan® 0 +cot2 0 is
(A) 25
(B) 27
(C) 24
(D) 34



95. Ifg sec B + tan B +1= 0, d sec 0-tan O T AT &
(A) 1
(B) -1
(C) 0
(D) 2

If sec 8 + tan 6+ 1= 0, then the value of sec 6-tan0 is
(A) 1
(B) -1
(C) 0
(D) 2

96. Ifeg sinf}:?, dr cosec 0 + cot 0 &T HIT &
(A) 2 + 3
(B) 2V3
(C)

(D) ¥

If sin@ :% then the value of cosec 06 + cot 0 is

(A) 2 + V3
(B) 2V3
(C) 2
(D) V3



98. I sin B=cos0,0<0<90°, dF O F AT §
(A) 30°
(B) 45°
(C) 60°
(D) 90°
If sin 6 =cos 0,0<0<90° then value of 6 is
(A) 30°
(B) 45°
(C) 60°
(D) 90°

sin 30°+cos 45°—tan 60° _
" cot 30°—sin 45°—cos 60°

(A) -1
(B)0
(C) 1

(D)2

100. tan 30° sin 30° cot 60° cosec 30° =
(A) 113

(B) V3

(C) 1/273

(D) 1/3






